
Operations with Octal Numbers (E)

Calculate each answer.

103018
− 67368

62278
+ 74208

608)3114408 120548
− 67368

77278
+ 74218

31238
× 68

15368
× 478

16478
− 10028

11058
× 238

46568
− 27158

51248
+ 7268

12138
× 68

308)134508 118)712458 26128
+ 23278

328)467148

21348
+ 11428

121348
− 51738

55208
+ 47138

154708
− 64478
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Operations with Octal Numbers (E) Answers

Calculate each answer.

103018
− 67368

13438

62278
+ 74208
156478

608)3114408

41468
120548

− 67368
31168

77278
+ 74218
173508

31238
× 68

227628

15368
× 478

1015228

16478
− 10028

6458

11058
× 238
254378

46568
− 27158

17418

51248
+ 7268
60528

12138
× 68
75028

308)134508

3678
118)712458

62758
26128

+ 23278
51418

328)467148

13768

21348
+ 11428

32768

121348
− 51738

47418

55208
+ 47138
124338

154708
− 64478

70218
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